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ANNUAL INTERMEDIATE EXAMINATION - 2024
BUSINESS MATHEMATICS
( Optional )

Total Time : 3 Hours 15 minute Full Marks : 80
TEE:  3W 15 R qorte : 80
General Instructions / "= fdw :
I. This Question Booklict has two Parts — Part-A and Part-B.
W -3 § QM — wm-A 7 wm-B
2. Part-A is of MCQ Type having 30 marks and Part-B is of Subjective
Type having 30 marks.

ﬂm-aﬂaoafm%tghﬁummm-nﬂ 50 3% & fawafm w1 &

3. The candidate has Lo answer in the Answer Booklet which will be

provided scparately.

uﬂmﬂaﬁmﬁmmﬁn&m-gﬁmﬁmh%y
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4. Part-A — There are 30 Multiple Chaice Questions having four (4)

options (A, 13, C & D) ). The candidate has 1o write the correct option
n the Anawer Booklet, All questions are compulsory, Each question

cames 1 mark. There is no negative marking for wrong answer.

WM-A — vl 30 wRRwERa a3 £ faad 4 fawen (AL B, C mn D) By
Tl ®) I -yferm # wA 3 forgn k) wh g afaad 3 T T

lsimmttmmtfm:ﬁiaia.mwﬂml

o

Part-B — There arc three seclions - Section-A, B & C.

This pant is of Subjcctive Typc having Very Short Answer, Short

Answer & Long Answer Type questions. Total number of questons

8ection-A — Question Nos. 31-38 are Very Short Answer Type.
Answer any 6 questions. Each question carries

2 marks.
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Section-B — Question Nous. 39-46 arc Short Answer Type Answer

any 6 gucstions. Each question carrics 3 mar«s.

Bection-C — Question Nos. 47-52 arc Long Answer Type. Answcr

any 4 questions. Each question carries S marks.

WM.B — I8 WM § #3 w5 — yvs-A, B M@ € §1 gy v § ¥ =Y

Ftla, oy gt m A T g & i g A g s &

22 2 .

WA — WA EE 31.38 ¥R oy I X fel 6 T T A
TS T 2 3% w1 8

wvE-B —ma‘mgmagaaﬂwtlﬁmﬁswﬁismiu
YRI® U3 3 3 &1 R

WvE.C — mm47-52ﬁﬂm§rf¥aﬂ4wﬁ%wérm

usl 5 ¥&F &1 2l

TLV[XII)-51083 XC-BMT-{OPT.)-C 3/ 31



BMT
JAC Commerce
6. Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily bcf-an leaving the examination hall.
ahamfl ol s O & qp@ oA IM-ghaw dew w sfad w9 A
merd |

7. Candidatcs can take away the Question Booklet after complction of

the Examination.

gfla gaw B % 39TA Tlemefl wE-gfiae HY @y S W AR &
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Part-A
HM-A

( Multiple Cholce Type Questions )

( wfrwrdfayr )

Questton Nos. 1 tn 30 arc Multiple Choice Tyvpe. Each question has four
pplions. Select the correet option and wntc it in the Answer Sheet. Each

uesuon carnics | mark. 1430230

R e 1 A 30 74 axfasrdn yen §) 5w 57 & o fas= &1 & faee

pR I (e 4 ford) 9w g | o @ R
If 70, k, 100 are in AP, the valuc of Kk is

(A) 80 y‘as

(C) 90 (D) 95

VIXI1)-51083 XC-BMT-(OPT.)-C 5731
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72 70, k, 100 ®aim ¥4 § & @ ka1 o

(A) 80 B) 85
(C) 90 (D) 95
2. InHP o1 1 the fifth term is
-,M‘r/% (B) O -
i -2 D) 12
resE 9d Iio.-é—.% ... G ataal w2 2
w2 B o
) -2 (D) 12

3. The n th term of AP is

(A) T,-T _AB) a+(n-1)d

1
a+(n-1)d

) ar"' (D)

TLV(XII)-51083 XC-EMT-{OPT.}-C 6/ 31
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Part-A

q-A

( Multiple Choice Type Questions )

( gRwedaaw )

OMT

——

Commerce

Question Nos. 1 to 30 are Multiple Choicc Type. Each question has four

options. Select the corrcct option and write it in the Answer Shect. Each

question carries 1 mark.

1x30=30

T G 1ﬂaowmmélmm%mﬁm%mﬁﬁm

T I e J ford ) yds w1 3 w57 2

1.' ir70, k, 100 are in AP, the value of kis

(A) - 80 yés

(C) 90 - (D) 95

| TLV(Xn1).51083 XC-BMT-{OPT.)-C
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4. The valuc of mP,‘, is

(A) 100
) 70
"%p, #1713 2
(A} 100
) 70

5. "P iscqualto

n!
(A) n{n-r)!
n!
_mr”(n )

TLVIXI)-51083
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(B a+(n-1)d
(D) '
a+(n-1)d
_-{B} 90
(D) 80
(B} 90
(D) 80
® o
(r-n)t
D) n!
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6.  The valuc of luC6 is
AT 210 _ (B) 100,
(C) 60 (D) 1024
'c, #aH R
A) 210 (B) 100
(C) 60 (D) 1024
7.l lf =0 then the valué of x is
(A) 8 ' AB)"" 4
c) 2 D) 1
TLV(XII)-51083 XC-BMT-{OPT.)-C
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5 10 '
TI& 2 x =0 H} X b g+ %
() 8 (B) 4
€ 2 (D) 1

[ Ao 3 1 4 7 '
- 8. If A= and B= then the valucofl A+ B is
7 6 5 2

w27 ® 3]

@ [__‘2‘ "-4] | (D) [Zq g]

[Tivpn) 51083 XC-BMT-{OPT.)-C 9/31




9. raZl® 23
4 5 6
4D 15
w [P
20 25
4
J’/'m 10
- -~
20 25
20 25
(C)
40 15
10 8
(D)
|20 25
8
afe A=[ 2
] 5
40 15
(A)
20 25
(40 10
(B)
. 20 25
[20 25
(C)
(40 15
10 8
(D)
120 25
TLV(XII)-51083

JAC

] , the value of SA is

10
30,

-

15
30
30]
10

-

-

15
10

— e
o

XC-BMT-{OPT.)-C
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100 fA={q , '
} then which one is not thec sub-sctofl A?

W 1o B) {a)
a

€ (b}

Dy ¢

ﬂﬁA={a,b}ﬁﬁﬁ%%aﬁﬁqamm-mﬂﬂ%?

A {0} B) {a}

A€ {b} D) ¢

_..'
'd

11. What is Singleton sct ?
‘ (A) It is a single set
‘)%/- It is a singular matrix
(C) Itisanull set |

| _9)’ Itisa 's_ct with a single element

(v si083] | XC-BMT-(OPT.)-C
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A g

I“

S T e

——
L=
~

r.“b‘

B W= F=HoUs F=E

Ny - - ¥ ﬁ ‘ I" = = ’l_'—- —
HEmTESEi s 1= 04, 2.3.4,5,5,7and A=11,3,5,6,7 ; the:

& {2,£,6,7] D] 1{6,7)

- e 0=11,2,2,4,35,6,7; 3 A={1,3,5,6,77

A TFm
&y {1,3,5,6,7} B 12,4;

G 12,4,6,7; D) {6,7)

| TLVIXID-51083 XC-EMT-{OPT.}-C 12 / 3
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13. The diﬂ'crcntial c
oeffici
ficient of 3x% w.r.t. x will be

(A) 16x
(B) 16x°

/LQ}/ 12x° | D) ax’
x ¥ 7Y 3x® a7 IAH F B
(A) léx (B) 16x2
€ 12x° | (D) '4x";

14. Ify=Jx then ¥ will be

dx
w L L
s \'/(BT’:J;
© Jx D x
_ dy
R y=/x @ G &
oL 1
(A) Jx B) . 2Jx
© Vx o x

TLV[XI)-51083 XC-BMT-(OPT.)-C
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15.

16.

JAC

Integration of 4x” with respect of x is

-
(A) 4x?+c ._./[B‘(-’- +C
(C) ..’:'_5_+ c (D) Noncof thesc
S

(A)  4x?+c (B) x +c¢
(C) %5-+c ¢« () gWawdTE

The arithmetic mean of -2, 0, 2; 16 and - 6.is
(A 0 | /{Eﬂ/ 2

€ S5 (D) 16

-2,0,2, 16 71 - 6 %1 BHIR A1 @

(A) O (B) 2

€ S (D) 16

TLV(X1}-51083 XC-BMT-(OPT.)-C
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which of the T, ‘ . . _
7. | ollowing g difficult to computc in the measurcs of
central tendency
Mea
W ? (B) Median

'J_Q,/Gcome tric Mean (D) Mode

Prerffen F5l wafn o o i R momn i 2 2

(A) W& (B) wrfer

(C) TR " (D) e

18. Which of the following is not a mathematical mean ?

_mc

(B) Geometric mean
(C) Arithmectlic mean

(D) Harmonic mean

[Txm 51083 XC-BMT-(OPT.)-C 15 / 31
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19.  Modc of0, 15, 18, 19,

. (A} -25 | B 20
e o D) 25

0, 15, 18, 19, 20, 22, 25, 0, 4 %1 WEeT R

(A) =25 {B]- 20
(C) O D) 25
LTLV(X1)-51083 XC.BMT.(0py "

i[j) geT® A

20, 22, 25/0) 4 i
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hat is th Commeres
what 15 the medj
0. an of the follow: .
INg variabley 7
4, 9, 12, 15, 7 18
a9 |
B) 12
C) 15
(D) 16
e R w2,
4,9,12, 15,7, 18
A 9 B) 12
(C) 15 . D) 16
'21.  Which of the following is correct ?
(A) AM=/GMxHM (B) HM=/AMxGM

tef~ GM=/AMxHM D) GM-= JWZ;HE

[Tvixm 51083 XC-BMT-(OPT.)-C 17751
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P damaft g ?
| FaE A
(A) R AR = [T A X
. e
(B) TS AT = A[ERA A o

» Hreg
(C) TR e = fTR AT x EOC

AT x §Uh HIE
(D)-guﬁmm=\. f 5

22. In the case of uncqu}al size of items
(A) X < Geometric Mean
(B) X > Geometric Mean

(C) X = Geometric Mean

(D) None of these

TLVXI)-51083

XC-BMT-(OPT )¢
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™ X < TR i
B) X > Toivw meg
© X = T me
(D) ¥ A Fr§ 7

23.- When no observation is there HM is defined af.s
A) 3 B 2
e 1 D) ©
& PIS FTAIHA Tel B 2 T oo qhonfva g 2
A) 3% sd (B) 2% ¥R

(C) 1%F®A D) OxwqH

TLV(XI)-51083 XC-BMT-(OPT.)-.C 19 / 31




29. anO-
Tx S¥ Cx I
A) TxSxC-I By
T-—S+C-—I
(C) T+SxCx 1 ABY”
YqO~-
) TxSxC-1I (B) Tx SxCx I

(C) T+SxCx 1 ' (D) T-S+C- I

25. The most important factors causing seasonal variations are
_4K]"  Weather and social customs
» (B) Growth of population
- (C) Depression in business

TLV(XII)-51083
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el WRad ¥ 8wy ey RLSLURON

(A e 3 T a6 -
(B) SHEEM 1 fywmm
(C) SR ¥ 3mwER -
(D) +H A aﬁé e
26. Th_c seasonal fluctuations are
(A)  Periodic and irregular - |
(B) Periodic a-ncl regular.
(C) Not periodic

(D) Cyclic

| TLV(XII)-51083 XC-BMT-(OPT.)-C 21 / 31
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) Pranmifad adl i
cqy Frammfes 3R ﬁ“ﬁ"ﬂ

) wnafys 7

(D) =R

27 If a card from a pack of 52 cards is drawn, what is the chance

drawing a face card or spade card ?

11 7
11 |
L % o 2

aft 52 il ATef Mg A T v when e & A Iek IR 4 g

A ¥4 6 T qRIE R 2

' 11

c 4L

“ o) 2
3

[TLV(xm)-51083
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WO (y-17=0 ( 89 ) o @

’(yg ':Zyl +Yo =0 .

(B) y, -3y, +3y;~Yo =0

€ (a) 3 @A

(D) ¥ @ H A
30.  .ooooonnnn... gives forecast for the future.

.r/ﬁ Extrapolation (B) Interpolation
(C) Mode (D) Mean
............. Wiy 1 lﬁﬁqn‘yzn *TaT 2
A ST B) e

© (D) wey
/

TRELSToR ~ XC-BMTOPT.).C 24 /3
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Part-B

WUl-B
{ SBubjective Type )
(Reafeyw )
Section - A
g - A
( Very short answer type questions )
(-aﬁ-ﬂgmm)
Answer any six questions. 2x6=12
ﬁFﬂ B: ¥HE & IW il _
31" Find the 12 th term of the AP 7, 10, 13, 16, 4.. .
L0 aaa 7,10, 13, 16, ... 12 3 W w hR)
32 11"C,=120 then find n.

»

afy "C,=120 T n T HI

TLV(XII)-51083 XC-BMT-{OPT.}-C 25 /.




73-07??{,1\.
JAC \
-30_4x—x )
y :

’ ' . . X
A3.  Differentiate with respect 10 X

J
-4x =X
« % WAy yawed g w, y=30

. . x :
J‘( Integrate with respect 10

' j?x" -9x"+3

-

i ing log table.
" Find the geometric mean of 20, 40 and 80 without using log
35. Fin :
faen AR |reh % @M @ 20, 40 qW aomﬁ/’lﬂ(mmﬁ|

36. A bag contains 3 red, S black and S ycllow balls. What is the

probability of drawing cither a red or yellow ball in a single draw ?

@ﬂéﬁsm.smmsmﬁiilmﬁaﬁmﬁf{imﬁimm
il ] 8 i wiftewm w0 R 2

e fA={10,11, 12, 15},

find (AUB)NC.

afe A= {10, 11, 12, 15}, B={12, 13,
(AUBINC m =¥ |

B= (12,13, 15, 16 L C={10, IS5, 16},

TLV(XII)-51083
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in how many wavs «
8. Y wWays can the'
' the alphabets of the word ‘BANANA' be

arranged ?

W& 'BANANA' % '
N B el v d weRm M a2 2
Section - B
uue - B
( Short answer type questions )
. ~ f)‘l
(T yR) -
Answer any six questions.

<l B: Wl & IW <

‘39./ The monthly salary of a person in first year is Rs. 300 per month.

He gets an increment of Rs. 20 per year. What were his total

carnings during 10 years of service ?

@aﬁsmmaﬁwmaﬁaooso 3| 38 wdw od wfa ad 20 %o

m&mmtaﬁmaﬁ%mﬁﬁmm%?

XC-BMT-{OPT.)-C " 27731
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s can be seated in g Piry
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- 4 gi
40. In how many ways 5 boys and

so that no two girls arc toge ther ?

sas%aﬂuaﬁ‘ﬁ“ﬁﬁm
wsfral il H AW A E P

yr @ o T EH @ i

h f
b g|-
fc

Q 3> 8

41. Find the value of dctcrminant
a h [
h b g
g f ¢

AR 1 7 A H

5 7 1 3]
-4}( IfA:[z 3] and B—-z 7-
1 3/ A s =t

5 7 ]
aﬁ A=[2 3]3#{ B=-2 7.J \

If the value of mean (-)?) is 25 and Median ( M) is 26, then find the

value of Mode.

, find AB.

(L

R A (X) 25 & don R (M) 26 R @ TgeH w1 AW @ H

/4./ er-{1,2,3,7},3={2,3,5,7},c={2,4,6,3},ﬁnd

(ANB)U(ANC).

i

wfu-{l.z.a.?}.a-{z,a.s,7}, C={2 4.6 817

(ANB)U(ANC) ma =t |
lmm-_-slm XC-BMT-{OPT,).c . .
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7‘/ Interpolate the missing valye :

— o S0 35 60 65 70
J 80 95 ? 108 115
I T = stafiay = .
X S0 55 60 65 70
Y 80 95 ? 108 115
}6/ Find the values of x and y when
120 and |; 2| =40.,
x 3R y F1 9A Pl 5w I; "zlao i I; 2|-40.
Section-C
s - ¢
( Long answer type questions )
(§d zwla s )
Answer any four questions. Sx4=20
frfl am vl & IW

47 The sum of three numbers in Geometric Progression is 35 and their
product is 1000. Find the numbers. .

iR A B A Femad w5 4 35 & M FH A 1000 %1 weAn
T K

XC-BMT-{OPT.)-C
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. . be forme
d&l“rom 7 gentlemen and 4 ladics a commiticc of Sis to ormed. |p,

to includc at lecast one

how many ways can this bc donc 80 as
lady ?
7wm4mﬁasﬁwmm3|wmﬁmﬁﬂmm
w2 7R FRA § w0 A #9 AR B P

4&[\ If 75% boys preferred mangoes and 53% boys prefer bananas, find
the percentage of such students who prefer both mango and
banana.

ﬁ?S%aﬁmmm%aﬂtss%aﬁﬁmmméam
aﬁmmmz-ﬂmmmaﬁmmﬂﬁ?

jﬂ. Calculate median from the following data :

Mid-value 15 - ‘ 25 35 45 55 65
Frequency 5 12 23 35 18 9
frafafea sfwsi & wrfers g =X .
9 -HA 15 25 35 | 45 55 65
Jmgfa 5 12 23 35 18 9

TLV(XII)-51083 XC-BMT-{OPT.)-C 30 / 31
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“/ rind the trend valye by lcast squ h Commers
— are method
Ycar 2000
2001 | 2002 2003 | 2004 | 2005 | 2006
Sales 77 | 88 | 94 | 85 | 91 | 98 | 90
=en ot Ofd g0 s weg w8 o
aﬂ 2000 | 2001 | 2002 | 2003 | 2004 | 2005 2006
Tk 77 88 94 85 91 98 90

xand y.

uﬁx,y.-pmimaﬂﬁtmx,s,yguﬁmmfihhx

v S

- [Tovpom-51Q83,

xC-BMT-(OPT.)-C

52. If x, y, - 8 arc in AP and x, 8, y arc in GP, [ind the valucs of

* WA
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